
Sectionl-l: 0Sx<1m t

T("):Va-3x et M(x):Va.x- 312.ly'

T(0):5 KN M(0): 0 et T(1) = 2 KN M(1):3'5 KN'm

Section2-2: im<xS2.5m

T(x):Va-3x-4 et M(x):Ve'x- 312rP-4(x-1)

T(1): -2 KN M(1) = 3.5 KN.m et T(2.5): - 6.5 KN M(2'5) = -2'875 KN'm

Seçtion3-3: 2.5m<x<3m

T(x) : va : 7 - 3x - 4 et M(x) : va.x I 7.(x -2.5) -ilz* -4.(x-1)

T(2.5): -13.5 KN M(2.5) : -2.875 KN.m et T(3): -15 KN M(3) = -10 KN'm

Section4-4, ô*<x<1 m (dedroiteàgauche) 
.

T(*): 10 KN et M(x): -10x

T(0).:10KNM(0):0KN.metT(1):10KNM(1):-l0KN'm
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